H £ 0l & AF & S

Al A

0238 20ilaF LBtelH IS0 2022-12-30 10:46:40
SA F2US
Hy: IPE 22 L N
CHol: SRTABY MUY K| (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fe=X 70,233,090 59,073,290 11,159,800
= 38,617,660
[ 1,684,707
Il 3,500,000
< 6,569,450
Al 19,861,273
=II2& 22 & X2 2,357,865 1,777,453 580,412
= 387,000
Al 1,970,865
SHENUYY dSAE N2 2,357,865 1,777,453 580,412
== 387,000
Al 1,970,865
2223 @A A 2 HAH 2l 46,280 38,220 8,060
101 e124d| 6,000 3,600 2,400
M ORINZZ2NSE S 6.000 3,600 2,400
O=dEA 238 22 6,000
oJlZ2=s 150,000 x4 * 10 6,000
201 er23y| 19,680 14,020 5,660
01 AtR2t2|HI 7,680 7,020 660
O eS| 7,680
OEs ¥ ESANE 22 29
4,000,000 4,000
ozd2X, &8 4 S EG+8
3,680,000& 3,680
03 A= SHI 12,000 7,000 5,000
OSEL FEEAM 7,000,000& 7,000
OHNI732] 6.25 AL 5,000,000& 5,000
202 04| 600 600
01 =LHO LI 600 600
22 gy 600,000 600
206 M=l 2,000 2,000
01 MZH| 2,000 2,000
O=ZdEA &2 &4F 7
2,000,000 2,000
301 EtE2 NS 18,000 18,000
11 #AIAHIXIE S 10,000 10,000
OSSN BH 7RE2Y
8,000,000& 8,000
O=g=3k S /=23d 2,000,000& 2,000
14 IIEt2d3 8,000 8,000 0
O=SERSN & RE /2= N2
8,000,000& 8,000
22HA 2E4 A2 145,585 143,633 1,952




A ==X
Hy: IPE 22 L N
o9l SRTAFY HYAY X2 COR
SA - BE - C9(3H) - KA - BES Ol &t e B2
307 QI2HOl A 145,585 143,633 1,952
03 QIHHMNEHE2SHIE X 116,785 114,833 1,952
O2EHH 2Z(Hee= 6.25&NREREl)
13,534,000& 13,534
OSELH 22(0E0= 322A01203
) 16,272,000% 16,272
OEEHH 2H(UE22 SN ERIE)
16,297,000& 16,297
O2EHH 2Z(teel= DEHALS])
20,137,002 20,137
OEST 2Y(0E0=2 HeRERE3)
14,238,000& 14,238
O2EHH 2Z(tstel= Aolz2d3l)
22,374,000& 22,374
O2EHH 2 (U= RS+ERE])
13,933,000& 13,933
11 ABI=Z XA X 28,800 28,800 0
O SB2AHE S 40 AR (CHEIOIR 6.5
HRSX3]) 7,020,000& 7,020
OXFX &S M At (THeel= M2
olgolg]) 3,600,000& 3,600
OXFXEelS 30 At (THEel= |y dE
HX3l) 3,100,000& 3,100
OX A= S 200 A (CHEHRI= DEHIE
23l) 1,400,002 1,400
OFFT=AS Of MY (HHEI0IR B2
2E3l) 5,000,000& 5,000
OXFT el S 20 At (CHEel= Aol
al) 2,500,0002 2,500
ORHT2S 50 AR (LHEHDIR 2348
Atal) 6,180,000& 6,180
22312 2el 22,000 20,000 2,000
201 2E2 22,000 20,000 2,000
01 AFS2t2lHl 14,000 12,000 2,000
OB ===H| 14,000
OE&Es|2 HRFN S 5,000,000& 5,000
oRoddl =& 3,000,000& 3,000
oIl sXZel 3,000,000& 3,000
OXMI|&Hl |2t 1,500,000& 1,500
OAZAIE Szt 1,500,000& 1,500
02 Z324l 8,000 8,000 0
O 23LHA 3,000,000& 3,000
OAEEHIR XY 5,000,000& 5,000
SSAlE 22l 6,000 6,000 0
201 23| 6,000 6,000
02 224l 6,000 6,000




SA F2US
Hy: IPE 22 L N
Col: SRFAEY MUAY N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAEEHIS ] 5,000
OBBAIMTY U RN
6,000,000 6,000
SRBESY N (EX) 2,112,000 1,545,600 566,400
== 384,000
Al 1,728,000
301 22N = 2,112,000 1,545,600 566,400
< 384,000
Al 1,728,000
03 AL 2 EH 263 (X ) 2,112,000 0 2,112,000
O==2% =& 2,112,000,000& 2,112,000
= 384,000
Al 1,728,000
sS=EEsg A2 20,000 24,000 24,000
301 EetE2 NS 20,000 24,000 24,000
03 A2 E A0S (XL THH) 20,000 0 20,000
O=IIE22UEA MSAZS
20,000,000 20,000
HetSE QAN fifsY X3 (2X) 6,000 0 6,000
= 3,000
Al 3,000
301 LEtE NS 6,000 0 6.000
= 3,000
Al 3,000
03 A2 E A0S (XILTHH) 6,000 0 6,000
OH=Z AR R
6,000,000& 6,000
=S 3,000
Al 3,000
KNSALR =X Jlgtrd & X 5,253,373 4,859,071 3%4,302
= 1,347,619
7l 500,000
S 251,611
Al 3,154,143
FEel 25 & X 6,000 6,000 0
SN F2AY 6,000 6,000
301 EtE NS 6,000 6,000 0
02 NRI2HHHS(HAAS, NLHE) 6,000 0 6,000
O2lssed & R0 SAP2S
1,000,000 1,000
O AN SOt OtX|=
40,0002 x5 5 1,000
O AE b 20,0002 x50 1,000
OdcAL S=7=2Hl X2 1,000,000& 1,000
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M FoI=XD
ME: XAEIZK JBEL o X
o2l R0 B & XF (SH &)
SA - ZE - B2(30) - HRAS of v e HIDE2
|| ozaxn zmxel 2,000, 0002 2,000
ANSE=XAMS X2 5,247,373 4,853,071 394,302
= 1,347,619
Jl 500,000
=S 251,611
Al 3,148,143
A2l SAI2e AFEXIE 426,467 410,651 15,816
201 et 3| 31,540 29,300 2,240
01 At22t2l] 31,540 29,300 2,240
Ot~ 6.840
NEENEEREESS 6,000, 0002 6,000
OABISTIA HHAASE] BA 2+
70,0002 x6H *23] 840
O=&H| 24,700
OSHS MI=ANEESRE N
24,700,000 24,700
202 04| 2,800 3,800 A1,000
01 2LHOIH 2,800 3,800 1,000
OArRIS A gf=d 1,200,000 1,200
ONSABETHE 48 L B} £
1,600,000 1,600
307 212+01™ 392,127 347,551 44,576
03 M EHE2SHIEX 100,227 9,651 3,576
OABISTIEoE 23 100,227,000 100,227
04 QIZFHAIAFE 2 2 4,000 12,000 /8,000
081 3.1 STRNZS IS Al
4,000,000& 4,000
06 28= 14,000 0 14,000
ONSIZT] SAT HEH2E T2
14,000,000& 14,000
1 ARISTIAIEE X 273,900 238,900 35,000
OXAS FHOHQIKE BN B & 2+
13,000,000 13,000
OEAY B2l U 5RYY F2X
4,000,000& 4,000
OARISE RS2 A 2 400 At
34,000,000& 34,000
ORESA At 120,000,000 120,000
OZTIAl ABISTBAR =XI4g
90,000,000& 90,000
OAZI S XA E4=1=H] A&
8,400,000& 8,400
OH123 2HAl ASIZ2XAL HEICHS
4,500,000 4,500
=OUEBHEH 2H(EX) 99,600 94,200 5,400




S FRI= XD
Ha: XAAEEX JIBES o KR

Rl NFE=SXIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 19,920
Al 79,680
307 lztol & 99,600 94,200 5,400
= 19,920
Al 79,680
03 PIHHEE 22X 99,600 94,200 5,400
O=F2UCSHH 28 99,600,000& 99,600
= 19,920
Al 79,680
FOMEXZAMEIA SR XS 38,760 34,958 3,802
201 et 3| 21,760 17,958 3,802
01 At22t2l] 21,760 17,958 3,802
Ot~ 16,760
o= 2= 3,000,000& 3,000
OFRHIAZA L2H S1=
2,760,000& 2,760
ONSBE L HALRE 2
6,000,000 6,000
OFDMBTIAMEIA EDS HE
4,000,000 4,000
O=¢g| 6,000
OFE=X HRFA 6,000,000& 6,000
202 04| 5,000 5,000
01 =LHOLI 5,000 5,000
Fo=EX R 5,000,000 5,000
206 M=l 12,000 12,000
01 MZH| 12,000 12,000
O 28 MHSS 12,000,000& 12,000
ARISXIAIE K& 10,000 10,000 0
301 LEtE N = 10,000 10,000 0
02 AR 2HALFS(HAAS, XLHE) 10,000 0 10,000
OMBISXAE S2(F4,E)
500,000 *200H 2 10,000
ARISXIAIE SA WS 3,920 3,920 0
201 223 920 920
01 At22t2lt] 920 920
O =ZH| 920
OARISXIAIE SAHA WF
920,000 920
301 EtE2 N = 3,000 3,000
11 #AIAHIXI 2= 3,000 3,000
OAMASXAE SAHL 1T
3,000,000& 3,000
MEISEXEL S MER22E 2l 102,800 123,998 A21,198




2A:

=X

M NSAMeISA] Jlgtxd & X2
el NE=XAE X2 (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
301 EtE NS 102,800 123,998 A21,198
10 AR =224 102,800 123,998 A21,198
OS4| 100,800,000& 100,800
Ol 2SIt 2,000,000& 2,000
ANBIEXEX § ASZRRP 22/ (HEAY) 633,628 633,628 0
301 EetE2 NS 633,628 633,628
0 M=SRRELEYS 633,628 633,628
0s:s 564,151,000 564,151
Ou S| 56,074,000 56,074
Ol =4| 13,403,000 13,403
OITHe! RSHI X (EX) 25,000 25,000 0
S 25,000
201 er23 | 13,500 13,500 0
= 13,500
01 At 2|l 13,000 13,000 0
Ot ==H] 13,000
OO0IME #5 13,000,000 13,000
& 13,000
02 s3=gHl 500 500 0
O0IHE 25 2| SHe=s S
500,000 500
< 500
302 Ol==H a2 &= 8,000 8,000 0
== 8,000
02 2PN S A ES243 8,000 8,000 0
ONdi24=, Ml S 5,000,000& 5,000
< 5,000
O0I2i0) BESY U SARY| SR
3,000,000& 3,000
= 3,000
307 @I2t0| & 3,500 3,500 0
= 3,500
02 QB AANEER 3,500 3,500 0
OMoll+S W=l S 3,500,000& 3,500
< 3,500
NEAt 2 ZEAM 23 108,666 106,879 1,787
201 fer=2 3| 38,580 38,580 0
01 AtR2te|HI 38,580 38,580 0
O=3=+4 38,580
OXNSAMEHE AN 28?23 S4+Z
3,780,000 3,780
OSHS NAMIEZEAM 3o A=
g ,800,000& 34,800




2A:

X XH -
o=

=X
KGASI SR Jlgtad 2 X

0

Rl NFE=SXIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 70,086 68,299 1,787
03 2IIHHEE2SHIEX 50,086 48,299 1,787
ORI AB 2 ZE M 2]
50,086,000& 50,086
1 AMISXAIEEXS 20,000 20,000 0
OXIZAISI EZE A K& At
20,000,000& 20,000
KNSAS 2N 2S(EX) 1,000 1,000 0
< 300
Al 700
307 glztol & 1,000 1,000 0
= 300
Al 700
11 AMEISXAIEEXS 1,000 1,000 0
OXSMBEZE AN Edat XA
1,000,000& 1,000
=S 300
Al 700
KIS A2l MEIA SHAAIS 1,791 1,791 0
201 2= 1,11 1,111
01 At2t2lt] 1,11 1,111
2et-EH| 611
OXIS At AHIA HR2FA
611,000& 611
O=&H| 500,000 500
202 04| 680 680
01 =LHOLI 680 680
OXIG A M A HEFA 680,000 680
NATES MaIMHIA SXAIG (M) (EX) 1,684,525 1,720,744 A36,219
= 1,347,619
== 168,452
Al 168,454
201 =3 2,229 2,229 0
= 1,783
= 222
Al 224
01 At 2|l 2,229 2,229 0
Oeet=EH| 2,229
OXISAZINHI A X ALY =&
2,229,000& 2,229
s 1,783
== 222
Al 224
307 lztol & 1,682,2% 1,718,515 A36,219




SN OISR
M NSAMeISA] Jlgtxd & X2
Rl NFE=SXIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,345,836
=S 168,230
Al 168,230
05 git?(& = 1,682,2%6 1,718,515 A36,219
OILARYY 22 X Are)
306, 192,000 306,192
= 244,954
= 30,619
Al 30,619
OXIGAIB I~ EXF AT
1,367,718,000& 1,367,718
= 1,004,174
=S 136,772
Al 136,772
OzYE OI8HY HI*A 8,386,000& 8,386
= 6,708
=S 839
Al 839
AMNEI=EX 2 2E 1,452,316 1,459,550 AT ,234
307 212+01& 1,452,316 1,459,550 NT,234
05 2ItRIE = 450,506 473,413 A22,907
OZHARIS2 29 450,506,000 450,506
10 Al SXAAIEEHE 22X 989,660 973,987 15,673
OAZ|=X2 2(LEESEAM=TH)
581,871,000& 581,871
OABI=X12 2 (ML ARI=X2)
407,789,000& 407,789
11 AMEISXAEEES 12,180 12,150 0
0=)|22 tHUE(LEESE A=)
4,050,000 4,050
OZH9 B2 (AMAME=TR)
4,050,000 4,050
OZOjQ 22 X UE2(HLASI =T =)
4,050,000 4,050
AB|=X 2 SAK S8+ (EX) 44,280 44,640 2360
< 13,284
Al 30,99%
307 elztol & 44,280 44,640 A360
= 13,284
Al 30,996
10 Al SXAAEEHE 22X 44,280 44,640 A360
OAMSISA2 SAHA SE5E
44.,280,000& 44,280
s 13,284
Al 30,99




2A:

=X

M NSAMeISA] Jlgtxd & X2
Rl NFE=SXIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AElEX2 X9EX Z208 2H(2EX) 30,000 30,000 0
= 6,000
Al 24,000
307 el2to| & 30,000 30,000 0
= 6,000
Al 24,000
10 AlISAAZEE 22X 30,000 30,000 0
O0SeSI(ZEE) 10,000,000 10,000
s 2,000
Al 8,000
OafimimH e (ZBH) 10,000,000 10,000
& 2,000
Al 8,000
OZ2 0/2 20| BH(MLY)
10,000,000 10,000
S 2,000
Al 8,000
I=ZEWIAAS (EX) 55,200 50,200 5,000
< 11,300
Al 43,900
307 elztol & 55,200 50,200 5,000
= 11,300
Al 43,900
10 Al SXAIEEHE2EHI2x 55,200 50,200 5,000
OJ|=FEHT MY 55,200,000& 55,200
= 11,300
Al 43,900
UMY SSAHIA A2 9,500 7,500 2,000
201 et 3| 8,140 6,140 2,000
01 AtR2tc|Hl 4,500 2,500 2,000
O et=EZH 2,000
OO0tz SXl - Hd =8 MEIA HR=
& 2,000,000& 2,000
O E W= 2,500
OFSAIZEEN d&ds u=x
2,500,000& 2,500
03 A2 I 3,640 3,640 0
OZUTXE ZRAHIA TEAL BA|
3,640,000 3,640
301 EtE N = 1,360 1,360
11 #AIMHIXIE S 1,360 1,360
OIS SSMBIA ASAIE AL
1,360,000& 1,360
ABIEX 2 IISEZ(EX) 17,950 94,412 AT6,462




2A:

=X

M NSAMeISA] Jlgtxd & X2
el NE=XAE X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,385
Al 12,565
402 QIF X201 & 17,950 0 17,950
= 5,385
Al 12,565
02 QI A2 AL E R (0IHTHE) 17,950 0 17,950
OAEISEX2 JIsE2(ZHAE=X2)
17,950,000 17,950
=S 5,385
Al 12,565
MASIHS SHIXR(EX) 1,970 0 1,970
< 1,970
101 @12A4H| 1,759 0 1,759
=S 1,759
M ORIMZZ2NSE S 1,759 0 1,759
OFASE &4 DSH A% Z4 X2
1,759,002 1,759
= 1,759
201 Yt 211 0 211
= 211
01 Al 22| 211 0 211
OHASE a4 DY AE Z4 12
211,000& 21
< 21
FHAANS == ST UL (EX) 500,000 0 500,000
Il 500,000
402 QI2F X201 & 500,000 0 500,000
Il 500,000
03 2IZHAETAIHHI 500,000 0 500,000
OFLHE == ==t Sla A
500,000,000 500,000
Il 500,000
2Dz 2T 2 HASS MEHE K 33,784,926 30,221,852 3,563,074
= 26,348,100
[ 185,586
= 3,169,577
Al 4,111,663
SA S 72,045 37,153 34,892
SXS0H AEL SEXZAF 2l 59,045 37,153 21,892
201 fet=3| 51,485 29,593 21,892
01 AtR2t2|HI 31,877 9,985 21,892
Ot ==H] 25,200
OSE XA HREFA 2,400,000 2,400
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FA F2US
B 2| EME PH U HASS MHOE X
&l QD | =M 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,400 1,400 0
O +=EH| 1,400
OOIREIIHS MYA BY U B35S R
= 1,400,000& 1,400
SAIISUXEAS 125,600 125,600
201 et 3| 28,500 28,500
01 At2t2l] 28,500 28,500
OEIEIER= 28,500
O=TIISH Y2EN B4 U 25 2o
28,500,000& 28,500
206 M=l 95,000 95,000
01 M=4l 95,000 95,000
O=NDIsSl €S 95,000,000 95,000
303 Zal= 2,100 2,100
01 2= 2,100 2,100
OSTDISH 24 SHE T4
2,100,000 2,100
212=T(EXR) 1,337,615 1,066,441 27,174
= 1,070,093
== 133,761
Al 133,761
301 22N = 1,337,615 1,066,441 27,174
= 1,070,093
=S 133,761
Al 133,761
01 Al EE AL S(FREXMH) 1,337,615 1,066,441 27,174
O2=S=X XEAME 1,337,615,000& 1,337,615
= 1,070,093
= 133,761
Al 133,761
282X XA 2,840 2,340 500
201 LBr2 | 840 840
01 Al 22| 840 840
DR 840
ORASENNY AAAS| B
840,000 840
202 04t 2,000 1,500 500
01 =LHOHI 2,000 1,500 500
OA==X MALISXIH SEEZA
2,000,000 2,000
ANz SEAtd2E] R (EX) 15,000 15,000 0
= 7,500
Al 7,500
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FA F2US
B 2| EME PH U HASS MHOE X
&l QD | =M 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAtellZteIAIY 222 ¥ 2EE S
93,670,000& 93,670
= 65,570
Al 28,100
301 EetE2 NS 93,770 79,800 13,970
[ 65,640
Al 28,130
01 Al 2E A S(SRNEXMHE) 93,770 79,800 13,970
OSHS AlZ2elUaxt 22K
93,770,000 93,770
s 65,640
Al 28,130
A0 (EX) 26,518,541 23,381,678 3,136,863
= 21,214,833
& 2,651,854
Al 2,651,854
301 LEtE NS 26,518,541 23,381,678 3,136,863
= 21,214,833
< 2,651,854
Al 2,651,8%4
01 AR 2EHSHS(RDNEXRTHE) 26,518,541 23,381,678 3,136,863
O=2D| =31 SAS0
26,518,541,000& 26,518,541
= 21,214,833
== 2,651,8%4
Al 2,651,8%4
HAEHSH(EX) 192,147 177,041 15,106
= 153,717
== 19,215
Al 19,215
301 2= 192,147 177,041 15,106
= 183,717
= 19,215
Al 19,215
01 Al 2E A S(FREXM) 192,147 177,041 15,106
O=20 ==X HAEHSO
192, 147,000& 192,147
= 183,717
= 19,215
Al 19,215
MEsy= 59,338 48,802 10,536
308 AXIHMSO0IA 59,338 48,802 10,536
08 w=J| 202X 59,338 48,802 10,536
 DIMESy=1t! 59,338,000 59,338
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A FRISXID
B 20| EME PN U HASS MHOE X
el MASE A K (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 240
Al 360
01 x24I 3,000 3,000 0
OXIE22 A (22RNE) HE 7Y
3,000,000& 3,000
= 2,400
= 240
Al 360
301 LPBNZ 220,000 200,000 20,000
= 176,000
= 17,600
Al 26,400
01 Al B&X2HZ2(2REETA) 220,000 200,000 20,000
OXE22 A (228 K", 22X =201)
220,000,000& 220,000
= 176,000
= 17,600
Al 26,400
307 212+01 A 3,460,534 3,436,872 23,662
= 2,768,427
= 276,843
Al 415,264
05 012t ErE 3,460,534 3,436,872 23,662
OXE22 A (RIEII)
3,460,534,000& 3,460,534
= 2,768,427
T 276,843
Al 415,264
a2z, NAXEHE 2 FANEHAEHSI (KIS AHE 464,669 422,999 41,670
HE2%) (2 %)
= 325,268
Al 139,401
307 212+01™ 464,669 422,999 41,670
= 325,268
Al 139,401
10 Al S XA EEHE2FHIE X 464,669 422,999 41,670
OXIEXeHEH 23 464,669,000 464,669
= 325,268
Al 139,401
22, NAXEEE L FEXNEAE S (RHEA 30,708 29,263 1,445
22N (Bx)
= 21,49
Al 9,212
307 212+01™ 30,708 29,263 1,445




FA F2US
B 20| EME PN U HASS MHOE X
Bel: NASS NEA XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 21,4%6
Al 9,212
10 Al2IS XA EEE 22X 30,708 29,263 1,445
OXtg LAeIAIE S0 A Atefl2tel
30,708,000& 30,708
= 21,496
Al 9,212
KNEHE SAK E8E(2X) 20,880 21,240 A360
== 6,264
Al 14,616
307 212+01& 20,880 21,240 A360
< 6,264
Al 14,616
10 Al SXAEEHE2EHI2x 20,880 21,240 A360
OXSNHEHE SAL SESE
20,880,000& 20,880
= 6,264
Al 14,616
NS A2HE 29 4,850 4,850
201 fer= 3| 4,850 4,850
02 S3=gHl 4,850 4,850
OAlE2EH|=XH 4,850,000 4,850
LE=K SSuUFES 2| 21,550 21,550 0
201 Ler23 | 21,550 21,550
01 At22t2lt] 12,200 12,200
O +=EH| 12,200
ONES S3sus RN S
2,600,000& 2,600
osd)| tdae| =2
3,000,000& 3,000
OaxgAdae] =58 1,800,000 1,800
OXHEBH =5 1,800,000& 1,800
ORQIEHl =2 3,000,000 3,000
02 S3=gHl 9,350 9,350 0
OS2 Al 5,850,000& 5,850
OAI2ZHI= Xl 3,500,000& 3,500
NE=SXNSHAHH 29X 10,670 10,670
201 er23 | 9,020 9,020
01 At2teltl 5,520 5,520
O+ 2,760
oussNEdA 29 2,760,000& 2,760
O=gH| 2,760
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FA F2US
B 20| EME PN U HASS MHOE X
Bel: NASS NEA XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIB=X 22 AME 2z
2,760,000& 2,760
02 S3=gHl 3,500 3,500 0
OAIEEH|=XH 3,500,000 3,500
202 04| 1,650 1,650
01 =LHOHI 1,650 1,650
OLESXSAME HRFA
1,650,000 1,650
2EsAJ=sMHAE+S X (EX) 520,263 368,351 151,912
= 416,209
Al 104,054
307 el2to| & 520,263 368,351 161,912
= 416,209
Al 104,054
05 212t =S 520,263 368,351 151,912
O22520| U= ==X E=2 XJ (Y
ISSEI) 12,913,000& 12,913
= 10,330
Al 2,583
022530 A= == == A (UL
8sE) 18,917,000& 18,917
= 15,133
Al 3,784
O022520| Y= =24 5= N2 (¥4
5185 %) 7,324,000 7,324
= 5,859
Al 1,465
022530 A= ==X 252 NA(F4
M=AHZH) 58,320,000& 58,320
= 46,656
Al 11,664
O22520| U= ==X E=2 X (Y
M= ZEH) 48,314,000 48,314
= 38,651
Al 9,663
022530 A= == =2 (34
WL M= A Z-XHa2l 015+ 2H5-39A)
57,655,000 57,655
= 46,124
Al 11,531
O225280] Y= =234 €52 NS (Y
LTS AHZ-Itat?l =1 2HO-34A)
316,820,000& 316,820
= 253,456
Al 63,364
ZoHeIsxsd 25,850,038 19,436,322 6,413,716




2A:

X XH -
o=

=X
o =xsa

Rl O Zoje =XSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,269,560
Jl 3,000,000
= 2,740,852
Al 7,839,626
Mot Zohel SXsd 8,033,158 4,465,833 3,567,325
= 838,647
7l 3,000,000
= 1,008,791
Al 3,185,720
JOHASXAIE JISES At 1,750 1,550 200
201 fer=3| 600 400 200
01 At 22|l 600 400 200
OS] 600
OHMASAIAE LR AIRES 78
600,000 600
202 04l 1,180 1,180
01 =LHNHI 1,180 1,180
OZOOI=NAIE 22ET
1,150,000& 1,150
EALEOHQN HOAIZ £X 1,000 1,000 0
201 et 3| 1,000 1,000
01 At22t2l] 1,000 1,000
O et=ZH| 1,000
OHAUEAAE HRFA
1,000,000& 1,000
ZOI=SX2A2E(EX) 1,398,000 1,295,130 102,870
S 279,600
Al 1,118,400
307 @I2t0| & 1,398,000 1,295,130 102,870
== 279,600
Al 1,118,400
10 AlRISTIAEEE 22X 1,398,000 1,295,130 102,870
OZss=Ex2 =24
1,398,000,000& 1,398,000
S 279,600
Al 1,118,400
ZOHQl MEOISKIYFHH 2F(ExX) 338,000 282,369 55,631
= 67,600
Al 270,400
307 @I2t01 & 338,000 282,369 55,631
s 67,600
Al 270,400
10 Al2ISTIAEEE2HIEX 338,000 282,369 55,631




2A:

X XH -
o=

=X
o =xsa

Rl O Zoje =XSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB 0O MEOISKHEH 2%
338,000,000& 338,000
= 67,600
Al 270,400
ol SAHE 2E(2X) 264,000 255,442 8,558
== 52,800
Al 211,200
307 212+01& 264,000 255,442 8,558
[ 52,800
Al 211,200
10 AlRISTIAIEEE 22X 264,000 205,442 8,558
OZ 0|40 SAHE 2
264,000,000 264,000
= 52,800
Al 211,200
ZoHe! MATHEAIE 2H(EHI)(EX) 497,254 490,126 7,128
s 99,451
Al 397,803
307 212+01& 497,254 490,126 7,128
& 99,451
Al 397,803
10 Al2ISTIAIEEE 22X 497,254 490,126 7,128
OOl TATEAIL 29
497,254,000 497,254
= 99,451
Al 397,803
ZOHQ! XIFALE THEAE 2H(EX) 283,200 271,467 1,733
=S 60,240
Al 222,960
307 21201 & 283,200 271,467 1,733
< 60,240
Al 222,960
10 AlRIS XA EEE 22X 179,700 170,511 9,189
OZ0HQ! FAUESAIE 2 (Ql24H])
163,700,000 163,700
= 32,740
Al 130,960
OZ el =UESAIE 2 (2el23H])
16,000,000& 16,000
== 3,200
Al 12,800
11 AMEISXAEEES 103,500 100,956 2,544
O OF2t 2ty E= A
67,500,000 67,500
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SN OISR D
M =S
Rl O Zoje =XSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,500
Al 54,000
OZofe! ofstud =4 36,000,000& 36,000
= 10,800
Al 25,200
ZOHRIFES AL JsE2 AIH(ExX) 1,688 0 1,688
= 844
= 253
Al 591
402 2IZtA=01d 1,688 0 1,688
= 844
= 253
Al 591
02 QI X2 AL E R (0IETHE) 1,688 0 1,688
OZRFAES AL JIs22
1,688,000 1,688
= 844
= 253
Al 591
FoBMNSHH 29 XJ(2X) 202,500 199,69% 2,804
= 60,750
Al 141,750
307 @120l & 202,500 199,69 2,804
s 60,750
Al 141,750
10 Al2ISTIAEEE2HIEX 202,500 199,69 2,804
O BHWSHE 29
202,500,000 202,500
& 60,750
Al 141,750
0N BMSIEEA 2 XA(EX) 120,000 200,000 80,000
= 60,000
Al 60,000
307 @20l & 120,000 200,000 80,000
= 60,000
Al 60,000
11 ARRIS XA E X 120,000 200,000 280,000
OZ0jel GHSISTAl 29
120,000,000 120,000
= 60,000
Al 60,000
KM ZOHQ! HOIAIL KRAME 2H(2X) 100,765 93,430 7,335
= 27,207
Al 73,558




2A:

E M

X=]

=X
HofeI=Ksd

O HOHe =XSH

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 100,765 93,430 7,335
= 27,207
Al 73,558
11 AMEISXAIEEXS 100,765 93,430 7,335
OZO0HL! HoAE K2HE 23
100,765,000 100,765
=S 27,207
Al 73,558
Het=ST HONQESIAIE AE] M= At 61,486 0 61,486
< 18,446
Al 43,040
101 @124H| 61,486 0 61,486
= 18,446
Al 43,040
M IRINZZENSE 61,486 0 61,486
OFRASE FOHQIBOIAIE AEf HEFTAF
61,486,000 61,486
= 18,446
Al 43,040
ZHAIZHQIEXIENR JISZSAISE(EX) 3,000,000 0 3,000,000
Jl 3,000,000
401 AIEHIX R0 3,000,000 0 3,000,000
) 3,000,000
01 Al&H| 2,990,000 0 2,990,000
OYSE=N 2 S5
2,392,000,000& 2,392,000
Jl 2,392,000
OZHAEHNFHE S=
598,000,000 598,000
Jl 598,000
03 Al 20HHI 10,000 0 10,000
OIS =N2 S5 8,000,000& 8,000
Jl 8,000
O BYENFHE 5=
2,000,000& 2,000
Jl 2,000
ZOHQISXIAE BAIR SE+SH(EX) 85,000 81,360 3,640
< 25,500
Al 59,500
307 212+01& 85,000 81,360 3,640
= 25,500
Al 59,500
10 Al2ISXIAIEEE 22X 85,000 81,360 3,640
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2A:

E M

X=]

=X
HofeI=Ksd

O HOHe =XSH

SA - B BRA(SH) - HRA - of v e HIDE2
OZHASXAIE S S8+ X2
85,000,000& 85,000
= 25,500
Al 59,500
oL X (derEeniel) (2x) 865,029 739,698 125,331
= 432,514
= 173,006
Al 259,509
101 @124H| 865,029 739,698 125,331
= 432,514
S 173,006
Al 259,509
04 JIZtN22 NS84+ 865,029 739,698 125,331
ORI YRRl A YIS LRI (FLR)X
! 865,029,000 865,029
= 432,514
& 173,006
Al 259,509
ZOHQI LTt  XI 2 (AIZERIZ Rtel) (B X) 245,150 138,029 107,121
= 122,575
< 49,030
Al 73,545
101 @124H| 245,150 138,029 107,121
= 122,575
== 49,030
Al 73,545
M ORNZZ2NSE S 245,150 138,029 107,121
OZ 0L Rt Al et ARl (AlZHAI) X
& 245,150,000 245,150
= 122,575
== 49,030
Al 73,545
oL X2 (SRR (2X) 445,429 360,629 84,800
= 222,714
== 89,086
Al 133,629
307 212+01& 445,429 360,629 84,800
= 222,714
= 89,086
Al 133,629
1 AMISXAIEEX 445,429 360,629 84,800
OZ AL TIAIY SRILX2(FHE )X
445,429,000 445,429
= 222,714
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2A:

=X

M =S
chelr TOF Rojel =XEE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 89,086
Al 133,629
ZOHQI LTI (HOIE) KA 72,000 35,000 37,000
307 el2to| & 72,000 35,000 37,000
1 AMEISXAIEEXS 72,000 35,000 37,000
OZ0HQ! LA (S0 )XEM At
72,000,000 72,000
AZE NS HXWF(EX) 7,677 7,677 0
< 2,303
Al 5,374
307 elztol & 7,677 7,677 0
& 2,303
Al 5,374
11 AMEISXAEEES 7,677 7,677 0
OAIZIE 0 BXtu= 7,677,000& 7,677
= 2,303
Al 5,374
AR ES(ER) 11,730 11,730 0
s 3,519
Al 8,211
301 22N = 11,730 0 11,730
[ 3,519
Al 8,211
03 AR 2H A 5SS (XILH) 11,730 0 11,730
Ol d=228 11,730,000& 11,730
= 3,519
Al 8,211
AZEOHe! TVAIE XI& 1,500 1,500 0
301 LeEN= 1,500 1,500 0
02 A2 H LGS (FHAAS, NSWE) 1,500 0 1,500
ORELS(0IHEY) 01823 X
1,500,000& 1,500
UL =XEL2 JISH A 30,000 0 30,000
401 AlEHIZL SO 30,000 30,000
01 Al&HI 30,000 30,000
OYMHASXELZ HIINSA SHAE £X
30,000,000& 30,000
e XX 9,271,046 6.99%,686 2,274,360
= 6,063,544
< 925,024
Al 2,282,478
ol xHE HE X 15,117 93,430 AT78,313
201 er23 | 12,711 11,3% 1,317
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M Zol=x s
F<E R NI INELS
ctels ZoHe! THEXIE (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=01218 23] AIRA 29|
5,000,000& 5,000
OLEHOCIES AIRA 29|
5,000,000& 5,000
OXOIRZZ AIRA 2Zd|
3,000,000 3,000
11 AR SXAMEEER 60,750 51,700 9,050

OF01H= ZHOHQIADSAIY "BHAQE= OF
20|82 Z2ME"(F

2,430,000% 2,430
OXIRIFONQIEE! 31 2215

1,500, 0002 1,500
OHSHOHO! ZH0l=H| 810, 0002 810
OH2T AN LK 900,000 900
OFSZ0NO! XILIISHIIHE

1,440, 0002 1,440
OXIN AN & A}

1,530, 0002 1,530
OBEHZOHIBS] 2E22 L DROS(
amcay) 2,430,00024 2,430
OECHTNQIEE 5 +213)

1,500, 0002 1,500
ONAS S FOjQ 22 BSLEA(BE
2H) 1,800, 0002 1,800
OLEX0QIS 517 223

1,500,00024 1,500
O EDS L JIZDS(DSH0H)

1,200, 0002 1,200
ON2AFOOIHEE B3 1=

3,000, 0002 3,000
OAILEON! 31H2)| 2

1,500,002 1,500
O XIZOIO] & SAHAIZ)

1,000, 0002 1,000

OAIZE ORI H &3 B= 08 AF(
Al24) 1,000,000& 1,000

O8O0l Alda & OtSS0E

b
E
U

700,000& 700
Os0telel & J18 At 990,000 990
O=01218 23| ot =83
1,500,000 1,500
0gsd & M=K sotel XA gl
1,260,000& 1,260
S0t g2 stud 1,530,000 1,530
s0t210] StE= At WA
1,620,000 1,620
OLEHCIZES ofH «=&He ¥ 25 &
1,500,000& 1,500
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SN OISR D
F: Foje=snsa
el ZOHe IS XIE (St &)
S - ZE - BR(E) - ARANY - BES ofl &t e DS
OIS & SEE 0g S5 AH
810,000& 810
O3E22 & JIE A 3,000,000 3,000
OAHLEA 2 SEY ol MOILE
2,300,000 2,300
OZe & JIE A 18,000,000 18,000
OZ =2 XE M 4,000,000& 4,000
Zoje! EsXAS0 XJA(Ex) 7,223,252 5,347,737 1,875,515
= 5,006,276
= 650,093
Al 1,516,883
308 AHXIEMSOIH 7,223,252 5,347,737 1,875,515
= 5,006,276
< 650,093
Al 1,516,883
11 S| 2S0 U & HAS A 7,223,252 5,347,737 1,875,515
OZojlesI 7,223,252,000& 7,223,252
= 5,056,276
== 650,093
Al 1,516,883
S2SEX JRIZH(ER) 72,324 20,028 52,29%6
= 50,627
== 6,509
Al 15,188
308 AHXIHMSO0IA 72,324 20,028 52,296
= 50,627
= 6,509
Al 15,188
1 S 2SoUetE 4R AS AL S 72,324 20,028 52,29%6
OSSHMY SEX IS0
72,324,000 72,324
= 50,627
= 6,509
Al 15,188
ZoHe! &= FIF RIZAY (EX) 296,670 286,300 10,370
< 89,000
Al 207,670
308 XtXIEMSO0IE 296,670 286,300 10,370
& 89,000
Al 207,670
11 SIS0t 4 A AS A 296,670 286,300 10,370
O 2sXd & FIHAE At
296,670,000& 296,670
= 89,000
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2A:

M =S
Rl ZoHe! THEAIRA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 207,670
ZOHOISIHEXA(EX) 324,038 257,040 66,998
= 226,827
= 32,404
Al 64,807
308 AHAIEMSOIE 324,038 257,040 66,998
= 226,827
= 32,404
Al 64,807
1 SIS0t HAS A 324,038 257,040 66,998
OZ0H0IS LLTHEMHHIA
324,038,000 324,038
= 226,827
= 32,404
Al 64,807
LSO F=HSSHHIAXA(EX) 801,255 558,860 242,3%
= 560,879
== 72,113
Al 168,263
308 XXM SOl 801,255 568,860 242,39%
= 560,879
< 72,113
Al 168,263
11 SIS0t oA A A 801,255 558,860 242,3%
OLSHNQ ZAHEAHIA X2
801,255,000 801,255
= 560,879
< 72,113
Al 168,263
LRl FAESMHIA &I XJA(EX) 176,034 109,297 66,737
= 52,810
Al 123,224
307 elztol & 176,034 109,297 66,737
= 52,810
Al 123,224
05 212t =S 176,034 109,297 66,737
OLLTOHRl FABSAUIA £t N
176,034,000 176,034
== 52,810
Al 123,224
LUSSSMHIA KR (EX) 241,336 175,924 65,412
= 168,935
== 21,720
Al 50,681




of
i’
oF
uJ

m N g 9 2 5 5 5 5
< < < < N < ™~ ™~ ™~
i 8 - 5 8 8 8
Ko
k|
D
< < 0 [te] [a5) [QV] [aN] [aN]
S S ST I = 8188 S S S
= = - - 5 NN 8 8 8
u_.ﬁmm ~ 5 ¥ 5
RIZ
— — 0 w0 ‘o luYe] [ Ye] N N QO <t D < D
S8R38 SE8REBESEEESEEE 528388888 88 BEESEREBEZERE
har — - - — — — — — NN — s o — —|lo ® 0o N[O ® © Nl O
RENPE SENF Z8EG SREEIEREEZES
r ® al 0 ™ — |l ® — | ©
g4
S
mwH =< m =< m W< m W < H <
[y oF OF o [
2 2 2 2 2
S S S S S
or 3 g g 8 S
X0 s — o 00 ~ o)
. xr [Te)
3D ®0
= _ - 9
ot ] = i
3 o H _ o+
o N -
= ~ o] gl Ui
= <l R e o0
ol | - = < o
~ KJ - - = =
o = < ol = 5 o
& o ! ol 2 R|5|5 il
g = Mn_ o o 5 5l
o = 3l R i =
I = S = o | 4 |5 %0
%0 = * e} %0 iofl = O
N 3l - s -
X |s S =|]|°
Ik RO RO




SN OISR D
M =S
Chol: ROHOI MEOIY K| (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,723,7%
=S 478,774
Al 1,117,139
=2 (01x) N=(EX) 1,008,827 619,953 388,874
= 706,179
S 121,059
Al 181,589
301 Eet2 NS 1,008,827 619,953 388,874
= 706,179
= 121,059
Al 181,589
01 Al EE A S (2 RDEERA) 1,008,827 619,953 388,874
O === (0Ix) 1,008,827,000& 1,008,827
= 706,179
= 121,059
Al 181,589
ZU=E (X 8) X=(ExX) 560,499 489,978 70,521
= 392,349
= 67,260
Al 100,890
301 EtE N = 560,499 489,978 70,521
= 392,349
[ 67,260
Al 100,890
01 AR 2EHSHS(RNEXRTHE) 560,499 489,978 70,521
OZi=E (M S) 560,499,000 560,499
= 392,349
== 67,260
Al 100,890
BRIDINR(EXR) 7,075 6,225 850
= 5,660
== 566
Al 849
301 22N 7,075 6,225 850
= 5,660
= 566
Al 849
01 Al EE A S(FRDEXMA) 7,075 6,225 850
OF0R 22710 W2 7,075,000& 7,075
= 5,660
= 566
Al 849
ZoHe! olZH| XA (E=x) 150,520 292,826 A142,306

_31_




od
i’
oF
uJ

8 8 & b ) S S S <
< @ <3 < ! S S S
Al S S - a - < < q
KIO < <
E
E=]
S & 3 3 3 ] ] ] 38
8, 8, © © © S S S S
[aN] [aN] © <o} © ™ @ ™ [aV]
W3 = &
uifed
RIS
© [N} © (8N} © [9N] [aN] Y9} [aN] Y9} [aN] Y9}
SEE§S 88883 Eg2Ea|82Ea3 3255|8828 82EE E82FE8E
S dlg g N dg 39N BB F - A|DF - A|S B AN N NI =
al
<
s
W= oM=< L= B T = R T = B T - T MW= W=
&l o o
g g g
or 2 ] g
X0 3 K o N
2] - o) =)
. <
5 E —~ _ —
T S o - K
E 3 o g e I
|..A| = =< 0O = —
g i _ K5 " <@ o
< o £ Il o) < o X =
. R =< 1R ul o 00
= 0 @ w0 L o U D
bl ok i o R TRES 3
__|Oy. 7] ) = = — <X
F < . . ? o » £ .
o I =L g o R ES o gr o K
- = uo o R ) g < < ) K S o
o & 4 o 5) o ™ Ur K o I KO =
0 R ~N S = ) o 3 o) o X0 3l
ot K H0 RO R0 oll < R = ol <3 S
=% 3 - - ur 5 s - ) = 5 @ %0
s < & 0 & 10
Ik = 1) 30

_32_



od
i’
oF
uJ

3 S & & & % 2 ) S
(@) (@) Yo} Yo} Yo} (<o} (o) © (e}
aq < S < < < % s % %
Ki0 < < <
E
E=)
S 8 218 218 & & & S S S e
S S sS|s S|S < < < < < <
(a\] (aV) [ w | w Lo Lo Lo Al [aN]
e 3 5 3 S S 3
il
RIS
8 8 8(8 8 8 818|188 818818 SIS kB3 BIZK B BN I KB R/ILDBILID B f 3 B8
S © S|Ss S o Fls|s|ls S|g|g|e S| R Sled R C|le ©&R S8 S0 D DS LS
T Y T TR YIRS B8B83 BE BSIBESBEBEIE B BT
ar
<
b=
MW= oM=< MW= W= W= W =
T o oS oS o
8 S 8 8 S
S S S S S
<
v : : : 5| -3
ol N~ Te} — o K4 — ™
: 0B o 0
ot m oh K _
W ~ ] ™ K1
= < il iy
= Kt 0 e
o] n OF H
= il S 1o
mqm 70 R0 AL
. ) Ok ) 80 Rl
= S 2 = 0 <
_._mo ~ K nJ ww K-
) ol 50 ol = o T
’ 5 0H B - 3l
X & ol & =
IF = %




SN OISR D
M =S
Chol: ROHOI MEOIY K| (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,500
=S 2,250
Al 5,250
402 2I2FXH=201& 15,000 0 15,000
= 7,500
= 2,250
Al 5,250
02 QI XHZ AL E R (01X THE) 15,000 0 15,000
OZMHAUANFAIE JISEL(REH2E)
15,000,000& 15,000
= 7,500
= 2,250
Al 5,250
ZOHRIHZ=AIE CCTV BIEH] XA (EX) 1,520 1,440 80
== 456
Al 1,064
307 212+01& 1,520 1,440 80
< 456
Al 1,064
11 AMEISXAEEES 1,520 1,440 80
O =AIE CCTV elEd] XA
1,520,000 1,520
= 456
Al 1,064
#HY2HHHI(==X) 450,004 244,839 205,165
s 181,502
=S 20,410
Al 248,092
Jl2dI(=e/=Xn) 41,220 41,220 0
JlE2ZHI(=e=X) 41,220 41,220 0
202 04| 36,000 36,000 0
01 =LHOLI 36,000 36,000 0
OSE£Z0t| 100,000 x30& « 12& 36,000
203 HR=H] 5,220 5,220 0
M EA2ER=A 5,220 5,220 0
O==2=X1 435,000 123 5,220
QI 2HHI(F2I=XI1) 408,784 203,619 205,165
[ 181,502
= 20,410
Al 206,872
SEAtAI 22l AL QI24H] XIR (XHAI) 81,498 76,115 5,383
101 @124H| 65,768 69,305 A3,537
03 SR (RINAHA) 222+ 65,768 69,305 A3,537




od
i’
oF
uJ

K| B < R L L 3 D88 L 3 8 8
o | @ N 0 o @ © N2l (o] N~ S S
3 I S S N N b < I EICEE 8 2
KIO
E
E=]
o | ©© Yo} [ee] [o0] [{e] N~
©|- N o] © o d
LH3r . . -
I1<)
RIS
N N o © QO o o o Al o
BI2I8 SIREEIE238S883|888|8 SRR BT ZBESRBEEXZE BE
glee 2/ 3 323 I8 B3I S|R KR eSn|h|b BCe Clresgegze~g 83
3
<
S
m=<| m=< m=| m= m =< W= W= i
of) oF OF of oF of oF
] 8 ] S 8 ] ]
S S S S S S S
o 8] |w S 3 w =8 ~ AR T :!
L8] |mwe 2 LS = Bl | 2| S
A 50 Ko oo K oo oo
. I B i = kR ulo
) Emw w ook = (R =
< wW oK 0 T ooy | .
SR hon <+ 0 A <+ ok |7 <+ A
s S i "o = |m W |3 b ol
s = ot |3 =S R Ik Mo K K a0 Mo =ORM
~ W v W 0o Wy ny MH Wope | W g
= nom o |= o il al |Ww| |Ha |3 L o
W |w| [0 |3 o & o M Il 8w (&5 | o =
ok [H{w|D R ﬁ [ ujo 2R ~ 22 [T =D
0J ak |10 | o I © o5 no INIL| = ook oy = ™~ [l
EEN L e 1 ] R o ok - O- Y o ok |0k |2 OF
. ||| N = = Wil =0 = L w2 C = )
= [Z ([ R D = G I+ RM RO =R S T Rl =) O
i S e L i Y o- M rio oF Ok 00 ® & (o ™o |or O | ) oY o W
RU-1o)|B)[Ho [0 & ol RV &l Mo HO Ko Aol |Ho o) |8) A0 HOTD | Y Mo o
- MEIERAE 5 g = 3 Tisls ®lglz © |2 5 8
X ® il = & ol & = =
Ik IHo < <




SA FUS
M M2 (FU=X )
CHRl: oI R9H| (=X (CH9: /M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 18,212
Al 7,806
04 HSRESS 16,700 0 16,700
= 12,560
< 2,198
Al 942
4 R (RIHA)22N BEERES S 15,700 0 16,700
OS2 SHBCIANHSRH) 28E J22E
2 2 gx201823 S
15,700,000 16,700
= 12,560
< 2,198
Al 942
HRas(==IN) 2,536,884 2,533,753 3,131
WEHAHRIE(FRI=SXL) 2,536,884 2,533,753 3,131
WRAHHXIE (=X 2,536,884 2,533,753 3,131
701 JIEtI HSHES 2,536,884 2,533,753 3,131
01 JIEtI AN ES 2,536,884 2,533,753 3,131
O2z2s S8 d&E=
2,536,884,000& 2,536,884




